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CHEMISTRY 9TH

It is challenge that you can get 12/12 marks in annual 20222

Q1.

Tick for correct answer.

S Goib g ne Sy Je

1.The third abundant gas found in the earth’s atmosphere is:
(A) Argon w57 (B) Nitrogen ¢/ £t
2.Deuterium is used to make:
(A) Light water /1s =<y (B) Heavy water /15 $1z
3.The isotopes C-12 is present in abundance of:

(A) 96.9% (B) 97.9%
4.The number of neutrons in potassium atom is:
(A) 19 (B) 20
5.How many stable isotopes are present in carbon?
(A) 1 (B) 2

6.Point out the right statement about electron affinity:

(A) (B) Absorbs energy
Measurement in kilo joule per
Fe otz F

?‘aJlgtjgu‘f s S A Ae 8l ey S FmSA
(C) Oxygen uﬂ'{f (D) Carbon monoxide
ST v K
S baeid Lt e ufly2
(D) Hard water /15 5.4

S bl A5 T C1291.3

(C) Soft water s1s 251

(C) 98.9% (D) 99.7%
RPN RN 7Y
(C) 39 (D) 18
Sty AT L B E S KD
(C)3 (D) 4

-Q/di@&uyu/)yﬁwlu;}gl.ﬁ

(C) Decreases in period

e S

(D) Increases in group

L'r”"], u:f g;}/f

7.An atom having six electrons in its valence shell with achieve noble gas electron configuration by:

(A) Gaining one electron

LSS uf

(B) Losing all electrons

é/@/l& u:/‘g! (V.'

ISR 6 Jir‘o‘-lm,éjw A6t T
£

(C) Gaining two electrons

L/Jllpuﬂ}g!»

(D) Losing two electrons

é/@/l& u;}..g! )

8.Considering the electronic configuration of atoms which atom with the given atomic number will be most stable one?

?s’n(é”uy;q(‘:nuf:.wjznL;,J/JmZa,;dd;@/;anijﬁ»!ﬂﬁ.,@}.ﬁ;Jy‘:n.S

(A) Six (B) Eight #7

(C) Teny (D) Twelve st

9.When an electronegativity element combines with an electropositive element the type of bonding is:

-‘48)1(9 bl n L g thFl L ikt Y RO 129

(A) Covalent &2y (B) lonic —£47

10.Which coexists in dynamic equilibrium at freezing point?

(A) Gas and solids s u*f (B) Liquid and gas me A

11.Which one of the followings does not affect the boiling point?

(A) Intermolecular forces (B) External pressure 2., s

3 I

12.Which one of the followings does not affect the boiling point?

(A) Intermolecular forces (B) External pressure 2. Goz

3 )

(C) Polar covalent e:L»y” ¢ (D) Coordinate covalent

ey aail

il /&:ﬁuﬂ-«’ﬁd’.f RSV TN

(D) All of these 17 ,

?Jytu.‘f)m}l/’&l{ﬂugu)fadul.11

(C) Nature of liquids =+ S (D) Initial temperature of liquid
A b

SQn a1 gutry By S L2

(C) Nature of liquids =+ Jé (D) Initial temperature of liquid

A b

(C) Liquid and solid s s &u

13.In the evaporation process, liquid molecule which leave the surface of the liquid have:

e Ot I SO Bt 13



(A) Very low energy &1 ¢ =«  (B) Moderate energy &1 $i-s  (C) Very high energy 5.1 s = (D) None of these U (5 U wi

14.When does the vapour pressure of liquid increase? ?‘ng.,f 4K 4.;&&.14
(A) With the increase in pressure (B) (C) (D) With the increase in polarity
. . With the increase in temperature With the increase in inter . .
= LU 2y ) molecular forces = LAy
e LUt A

e itk b B
15.Pure alkali metals can be cut simply by knife but iron cannot because of alkali metals have:

:Q)Juicuf.‘}/ufl'/‘aaclgWc.;lg:@%«ﬁlu"l}.1 5

(A) Strong metallic bonding (B) Weak metallic bonding (C) Non-metallic bonding (D) Moderate metallic bonding
i P Lkl e Ll s b Ll s
16.Metal lose their electrons easily because: L E ST hoys /-?l.;&b«?)’m 6
(A) They are electronegativity  (B) They have electron affinity  (C) They are electropositive (D) Good conductors of heat
wz‘f@'u"?'g LLL“}MGJ?’L’J!}Q'JU' uzbg’f?', i A E S s

Q2. Tick for correct answer. -dfﬁo/’b/’:wwc_—gﬂ ggm;ﬁ/g
1.Industrial chemistry deals with the manufacturing of compounds: N z‘gad/g‘ufufjkigf 01’7 1) ,‘*-f/ J Yo N
(A) On micro scale J’C A (B) In the laboratory /.4 (C) On economic scale & JL:6+(D) On commercial scale

L dw
2.How compounds are formed in industrial chemistry? ?w&:{fcsy’ oy /‘*3/ S A2
(A) In laboratory U= /44 (B) On small scale S (C) On commercial scale (D) On economic scale
4 JEFS 4 ey

3.Which one of the following can be separated by physical means? ?‘aﬂilgy/ ﬁ¢u;'é’.)df" SIS e S 5t.3
(A) Radical &4 (B) Compound %3 (C) Element z-ct (D) Mixture z*
4.The most abundant element occurring in the oceans is: ?‘gézgﬁlUﬁ;&)cq‘jﬁu}?&'lLuLkLg(ﬂ/ﬂA
(A) Silicon ygk- (B) Nitrogen ¢7s #t (C) Hydrogen 1.5 (D) Oxygen J{T

5.Which one of the following elements is found in most abundance in the earth’s crust?

S blllmlic Uit sV e f5Tn.5

(A) Argon w7 (B) Silicon gL~ (C) Aluminum (=" (D) Oxygen T

6.The number of naturally occurring elements is: :‘L)U?.I u'”dlLungLg/,/)JJﬁ.G
(A) 80 (B) 86 (C) 92 (D) 109

7.The quantity of nitrogen by weight on earth’s crust is: :‘aénuj:sb‘:;!ﬂ&f Pt AP T
(A) 78% (B) 76% (C) 77% (D) 79%

8.The percentage quantity of oxygen in human body is: :‘a,ué/lﬁwJ J{T utﬁ 3.8
(A) 66 (B) 65 (C) 63 (D) 64

9.The element occurring in the form of liquid is: :‘4.:;:{1111,’;955&:%5&.9
(A) Bromine s, (B) Fluorine ¢/ (C) Chlorine ¢1.# (D) lodine 57

10.Elements are mostly found as: :‘481.,&&;4 ;'fuf $22.10
(A) Gas (B) Liquid % & (C) Solid % ¥ (D) Metalloids 16+

11.The lightest element is: te ookl 7611
(A) Lithium fff‘ (B) Sodium (£3» (C) Magnesium ff{? (D) Calcium (f?

12.Thevalency of boron is: :‘40’;!'-,6/ 412
(A) 1 (B) 2 (€)3 (D) 4

13.The example of homogeneous mixture is: :‘admf /;( U3



(A) lce cream £/ Tq (B) Elements ==~
14.Formula of washing soda is:
(A) N82CO3 (B) NaOH

15.Formula of calcium oxide is:

(A) Ca0 (B) Ca(OH), (C) KOH
16.Empirical formula of glucose is:

(A) CH (B) CHO (C) CH,0
17.Empirical formula of benzene is:

(A) CH,0O (B) CH (C) CyH,
18.The valency of iron in ferric sulphate Fey(SQy)3 is:

(A) 1 (B) 2 (€)3
19.The percentage of nitrogen in air is:

(A) 70% (B) 78% (C) 21%
20.Atomic mass number of an element is represented as:

(A) Z (B) A (C)N
21.Atomic number of oxygen is:

(A) 6 (B)9 (€)8
22.At room temperature, ......... is found in liquid form:

(A) Sodium ¢35 (B) Copper ¢ (C) Zinc £
23.Atomic number of sodium is:

(A) 11 (B) 10 (C) 12
24.|sotope C-12 is found in quantity:

(A) 96.9% (B) 97.6% (C) 99.7%
25.Mass number of hydrogen is:

(A) 0 (B) 1 (C) 2
26.Element found in gaseous state is:

(A) Mercury s/~ (B) Gold 45~ (C) Oxygen o= 7
27.Which one of the following molecule is not tri-atomic?

(A) Hy (B) O (C) Hy0
28.......... is formed with the removal of an electron from an atom:

(A) Cation ¢t (B) Anion /.
29.All are tri atomic molecules except:

(A) Hy (B) O3

(C) Compounds 3,

(C) N82CO3.10H20

(D) Radicals £
iUy i Sy 37514
(D) NaOH
iUy B IAST (:5/ A5
(D) CaCO;
(e U B IKiS K16
(D) Hy0
:‘aﬂrzﬁ‘ﬁ./;{lguﬁ.ﬁ
(D) CgHg

ATt Fep(SOy)peit-s/2.18

(D) 4
:‘43“.{ A DIAL
(D) 20%
(e bl 6 S A b L scki £1.20
(D) K
e K T2
(D) 10
e erkitnd bl ol £47 0122
(D) Mercury §./
e bt LKL 23
(D) 13
e bl U A C-129T 24
(D) 98.9%
‘e AR 4A.25
(D) -1
e bl b 2eick 26
(D) Sodium (£5»
te o UsBtbidious st sen 2T
(D) CO,

:‘4&4,@}1&‘;),}?14,(‘746(.28

(C) Molecular cation ¢/t /»£. (D) Molecular anion 7t /&4

(C) H0

it b 580,29
(D) CO,

30.Molar mass usually expressed in grams .Which one of the followings is molar mass of Oy in amu?

(A) 32 amu (B) 53.12 x 10 **amu

(C) 1.92 % 10~ ®amu
?‘4,.3{/5(/”}11 Ll}L(ng/,/}’ (ju"' gdgdu/‘ 31

31.Sea water is a source of how many naturally occurring elements?

(A) 43 (B) 63

32.Which of the following pair of elements has equal mass?

(C) 71

Seluf EamuUt/80) e i tm-a bl b Ut 1 18 S Ui v 30

(D) 192 x 10~ * amu

(D) 92

?wijdtl\g?b{l B[ L{—jﬁ‘f(r_gﬂd}@/).:az



(A) (B) (€)

(D)

One mole CO and one mole ~ One mole CO and one mole N, One mole CO, and one mole N, One mole O, and one mole

CO,

33.Which one of the following is not a diatomic molecule?
(A) O3 (B) Hy (C) H0

34.How many numbers of moles are equivalent to 8 grams of CO,?

(A) 0.15 (B) 0.18 (C) 0.21
35.The mass of one molecule of water is:
(A) 18 AMU 18 AMU

(B) 1891801/ (C) 18 mg 18¢1.7 ¢

36.The molar mass of HySOy is:
(A) 98 g98.1.”

(B) 98 AMU 98 AMU (C) 9.899.8-1S

37.Which one of the following is a molecular mass of O9 in AMU?

(A) 32 AMU (B) 53.12 x 102

(C) 1.92 x 10-=

38.The formula mass of potassium sulphate (K9SQy) is:

(A) 174amu (B) 164 amu (C) 184 amu
39.Molecular mass of nitric acid HNO; is:
(A) 65amu (B) 63amu (C) 62amu

40.Molecular mass of phosphoric acid(H3POy) is:

(A) 98gmol ! (B) 100gmol* (C) 63gmol ™t
41.Molecular formula of gulocose is:

(A) CgH1204 (B) CHO (C) CH,0
42.Molecular mass of benzene is:

(A) Hy0; (B) CH,0 (C) CeH1206
43.Empirical formula of hydrogen per oxide is:

(A) CH (B) OH (C) CHy0
44.Molecular mass of COy is:

(A) 34amu (B) 40amu (C) 44amu
45.Gram atomic mass of hydrogen is:
(A) 1.08amu

(B) 1.008amu (C) 2.0169

46.0ne AMU (atomic mass unit) is equivalent to:

(B) 1S 4 1.66 x 10-2

47.The mass of electron is equal to:

(A) (1166 x 10-% (C) 1166 x 10-2

(A) 1.0073 amu (B) 1.0089 amu

(C) 5.48 x 10 *amu
48.The symbol of Avogadro’s number is:

(A) A (B) Z (C) Na

49.Which one of the following result in the discovery of proton

(A) Cathode rays ». 3 (B) Canal rays . Jt (C) X-rays S
50.Which one of the following is the most penetrating?
(B) Electrons »s 44

(A) Protons s, (C) Neutrons s/«

51.The concept of orbit was used by:

CO,

S JsBtb 2 S Ut 560,33

(D) CO,

W2 L 3L #1/8L2C0,.34

0
(D) 0.24
te UMW AL L3135
(D) 18 kg 18¢1.) #
- UL/7¥H504.36
(D) 9.8 AMU 9.8 AMU

U LAMUUAS 6 Qg 2t 5800237

T

(D) 192 x 10-%

e Uy (KSOg)et-(5ty.38

(D) 194 amu
(e U/ HNO3 oS #1.39
(D) 60amu

Ut /2uK: (H3PO,).40
(D) 60gmol !
et i /2K
(D) CoH40;
ety i /5B .42
(D) CgHg

:q.ﬂf/liﬂ/;:lg,?mgcﬁuéﬂA:;

(D) Si0
Ut/ 246:CO, 44
(D) 50amu
Y1 ATEP37,.45
(D) 1.008g
Stz L AMUL).46
(D) 1./ #1.66 x 10-2

S di LU S .47
(D) 1.66 x 10~ 2amu

‘LJ/ K/ J}/éﬁ;’l 48
(D) Ay

?Jn.:}!;/) Ju;34‘}‘.' éc':u/c,ui'u’AQ

(D) Alpha rays ». @i

%{!Ll;L/ojl/uLJ:_g/J-';:I.)?/gife_uful.50

(D) Alpha particles }?/g ]
?gﬁg’.uﬁﬁ(&ﬁﬁﬁl.m



(A) J.J Thomson "% 2—-z—  (B) Rutherford 5,5 ..
52.Who discovered the proton:
(A) Goldstein ¢~ 45 (B) J.J Thomson "¢ z_ -z
53.Who discovered proton?
(A) Gold stein ot 45~ (B) J.J Thomson "% z— =
54.Who discovered neutron?
(A) William Crooks >/ % (B) Bohr 4
55.Canal rays is produced in discharge tube due to:
(A) Anode =t L 3 (B) lonization of gas molecules
sl £ BT 000 £ A
56.Father of nuclear science is:
(A) Neil Bohr s 24 (B) Rutherford & 5,4 ..
57.Who discovered cathode rays?

(A) Goldstein . o7& 45 (B) John Dalton & 5 oo
58.Charge on cathode rays is:

(A) Negative & (B) Positive .y

(C) Bohr (D) Planck 1t
s U e UL 500.52
(C) Neil Bohr s (£ (D) Rutherford 5.5 s,
Wi nd 5453
(D) Rutherford 3.5 s,
S el s ti.54

(D) Chedwick 342

(C) Neil Bohr 4

(C) Rutherford 3,45,
1Ot 20U Ut 2 0 5,55
(C) Cathode sl £ 457 (D) Excess pressure of gas
2o L g &Y
e b A UF L .56
(D) J.J Thomson ¥ "¢ 2— 2

?u.?( .:JL,/)LJ( '/,,/5;‘2'-{.57

(D) Neil Bohr 2_ s (£

(C) Max Plancks & i <

(C) Sir William Crooks
P JC/&}/
1 bnlg 439 58

(C) Neutral J./ (D) lonic bond &t £¥

59.Which of the following particles have more penetrating ability in matter?

(A) Protons 5 (B) Electrons s &
60.Charge on neutrons is:
(A) Negative & (B) Positiveq =3
61.Charge on atom is:

(A) Positive =i (B) Negative ¢

62.Which one of the following shells consists of three subshells?

(A) O shell -0 & (B) N shell-N £
63.The p subshell has:
(A) One orbital ST L (B) Two orbitals ; .7 »
64.How many electrons can M shell accommodate?

(A) 2 (B) 8

65.How many electrons can N shell accommodate?
(A) 2 (B) 8
66.The number of sub shells in N shell is:
(A) 2 (B) 3

67.How many electrons can P shell accommodate?
(A) 2 (B) 4
68.Which of the following shell consists of four sub shell?

(A) K shellK £ (B) L shellL

?QZLBL/:{I/uyc_./ufa,’l.}?/};arufauful.59

(C) Neutrons s (D) Alpha particles . &
:;.mz.,,gw;,f.eo
(C) None o &5 (D) Partial positive =& (§s7
e by 4 (1.61
(C) Neutral J. (D) -2-2
te P B e 62
(C) L shell-L & (D) M shell-M £
e S P63
(C) Three orbitals ; 4.7 £ (D) Four orbitals ; .7
St LM 64
(C) 18 (D) 32
S AL N SN 65
(C) 18 (D) 32
:q.an;lﬂJ)??’LﬂJfN .66
(C) 4 (D) 5
(3295 B P 6T
(C) 6 (D) 18
te K o de LU e .68
(C) M shellM JZ (D) N shellN (£

69.0f which noble gas, chlorine attains the electronic configuration after attaining one electron?

e LSSV R 6 S A RIS it LS S s 915169

(A) Helium £+ (B) Neon ux

70.General Electronic configuration of carbon family is:

(C) Argon w7 (D) Krypton ws:./

e RFG i SR k10



(A) nsznp1 (B) nsznp2 (C) nszﬁp3 (D) nsznp‘”’
71.Which molecule requires two electrons to complete its valence shell?

?‘L(}ﬂcd)/.‘(!'j)%'))é LL/M&J‘*:B;I!J:;?L@U}(”

(A) Ny (B) O (C) NH3 (D) BF3

72.The number of electrons in the valence shell of noble gases is: mz.m',;?;éfu:)? S L /! Ji.T2
(A)20r828¢ (B) 20r 626, (C)20r424, (D) 2 0r 102 10,

73.The number of sub shells in K shell is: :‘Lamlﬂd/f,/‘ﬂfK 13
(A) 1 (B) 2 () 3 (D) 4

74.Atomic number of calcium is: :4./.,&'((39.74
(A) 11 (B) 12 (C) 19 (D) 20

75.Electronic configuration of hydrogen is: :‘Ld)&"ﬂ 3 /?l it S 15
(A) 157,25 (B) 15° () 1s”. 25" (0) 1s'

76.Electronic configuration of halogen family is: :+ﬁ/&( 6 A0 J’f sk 76
(A) ns? (B) ns2.np3 (C) ns2.np* (D) ns2.np®

77.How many electrons can K shell accommodate? ?Jgét—'}, }QIZQ}?J..’ K.77
(A) 2 (B) 8 (C) 18 (D) 32

78.Which radioisotope is used for the diagnosis of tumor in the body? ?‘gﬂgg JWI;Lﬁ g /z‘u‘:()' .;J/QLLJ,QB
(A) Cobalt-60 60/, 4~ (B) lodine-131 131734 17- (C) Strontium-90 90(?' s fr- (D) Phosphorous-32 325 6-
79.When U-235 breaks up, it produces: -wLnl&;u’li‘aei-235ﬁ:’ug,«>..79
(A) Electrons = & (B) Neutrons 5./ (C) Protons s, (D) Nothing & 45" Ut w
80.Isotope used to generate electricity in nuclear reactor is: :‘at'lg.l:( dbﬁ"lééé_ﬁ&‘ﬁ U ;Qu,[’&,zg/f.so
(A) C-12 (B) U-235 (C) Co-60 (D) P-32

81.Which of the following is used for the treatment of cancer? ?‘at'l?.l{r Jlﬁ‘lééawé /.:( Ly SLsosx0.81
(A) P-32 (B) Sr-90 (C) I-131 (D) Co-60

82.Isotopes of hydrogen are: it I T L PsiA.82
(A) 1 (B) 2 (€)3 (D) 4

83.Helium He2*nuclei is: e Jg‘g*Hezrf‘;‘;w.%
(A) Alpha particle J?/g @ (B) Beta particle J?/g bx (C) Gamma particle J?/g (D) Neutral particle J?Jg Jig
84.Mendeleev’s periodic table was based upon the: -u;( ,yeu’ Jf a1 L k.84
(A) Electronic configuration (B) Atomic mass Ut At (C) Atomic number ~# &t (D) Completion of a subshell
HE 6 PN

85.Long form of periodic table is constructed on the basis of: -‘g,go’ J'-'; Jﬁg/,;._sfpls.f}'.SS
(A) Mendeleev postulate (B) Atomic number # (& (C) Atomic mass Ut —(ti (D) Mass number #

U1 6 il

86.4'M and 51 period of the long form of periodic table are called: -t kUL LslG Ut nzr §SF S5 JT46F7.86
(A) Short periods J4 z <. (B) Normal periods ;4 z J .t (C) Long periods sz £ (D) Very long periods
DY ASTINIZ

87.Transition elements are: Y, P "-"lg’iy'l/‘.B?
(A) All gases -/ (B) All metals ¥ -2 (C) All non-metals = ot (D) All metalloids %1 -2
88.Which chemist presented triads? 94&;@.&;2.@;,?{ ‘/.88
(A) Dobereiner 1.5 (B) New lands 4 s (C) Mendeleev &) x» (D) Mosley L_»

89.Which chemist discovered atomic number? S il A bl 89



(A) Dalton o*i5 (B) Rutherford 4., (C) Bohr 2 (D) H. Mosley L_s» &

90.The base of electronic configuration was: Iv; ;y’:J ﬁ;f ..6/-?1.90
(A) lonization energy (B) Electron affinity e us A (C) Mass number # 1t (D) Atomic number # &t
G FFiT
91.The horizontal rows of elements in the periodic table are called: O q/l&‘flJ u—”&'iw‘}f ..Gw.91
(A) Periods 74 z (B) Groups #s/ (C) Blocks " (D) Arrangement <~
92.The vertical columns in the periodic table are called: U ,)Kd;/ J:Jﬁl Jﬁw.QZ
(A) Periods 7%z (B) Groups #:./ (C) Blocks (D) Arrangements =
93.The number of groups in the modern periodic tables is: :‘a;lﬂd/ J4;/ utfd:": u@g/guﬁt.%
(A) 17 (B) 18 (C) 12 (D) 8
94.The number of periods in the modern periodic table is: :‘g;lﬁd/),wu:‘}‘; Jﬁw,g,«g.%
(A) 5 (B) 6 ()7 (D) 8
95.The first group elements of the periodic table are called: :ug‘Lu{ J%J"IL?,/ é;gu.’:‘}’f qu;.%
(A) Alkali metals (B) Alkaline earth metals (C) Metalloids (D) Halogens
96.Alkali metals belong to: :‘ag}l’." g+ 8.96
(A) First group .?A/Q;_; (B) Second group :,JJ;? (C) Third group .7,f5/? (D) Fourth group .7;)?53}
97.The second group elements of the periodic table are called: e be:ﬁ,z_?,/ ;/»LJ“ i 5.97
(A) Alkaline earth metals (B) Alkali metals 4+ (C) Halogens 724 (D) Transition elements
K F o FE K Sz
98.The number of elements in sixth period is: i Jp&‘l‘ﬂ%é‘_’;.98
(A) 18 (B) 32 (C) 54 (D) 80
99.How many blocks are there in modern periodic table? ?wu’ u,ﬂu.’:&" Jjwj,,«g.%
(A) Three & (B) Four ¢ (C) Five &, (D) Six £
100.The number of elements in third period is: 1l J“’ﬁluﬂugﬁ?.mo
(A) 2 (B) 4 (C) 8 (D) 18
101.The seventeenth group elements of the periodic table are called: W u"‘;’ﬁléﬁ.{,/ LJ’:‘ iz 101
(A) Carbon familyd"3 531 (B) Noble gases ,—f S (C) Alkaline earth metals (D) Halogen 2 s

P SIROA1]
102.In which block of the periodic table do transition metals lie? ?wayékut./ m/ LJ.": u?w}‘:cﬁ'jl}JOZ
(A) S (B) p (€D (D) F
103.The number of elements in fourth period is: e ﬁldﬁmi@ﬁ%
(A) 8 (B) 18 (C) 28 (D) 38
104.The number of elements in first period is: il J"fiuwz;gm
(A) 2 (B) 8 (C) 18 (D) 32
105.The number of elements in normal periods is: :g.;lp’J ﬂ'l‘ﬂ/‘,‘g/jd/m 05
(A) 18 (B) 10 (C) 8 (D) 32
106.The number of groups in modern periodic table is: :‘a;lﬂd/ uﬁ;/ ‘ﬂ‘}"‘ ..(51.,/,14,,«?.106
(A) 4 (B) 8 (C) 14 (D) 18
107.Lanthanides and actinides lie in: mz.tgz.gut.f 1},4// 5Kl 35 07
(A) s Block (B) p Block (C) d Block (D) f Block
108.The number of periods in modern periodic table is: :‘L;u""J)@, /:,uﬁ S5 440108

(A) 3 (B) 5 (C)7 (D)9



109.The shortest period in the modern periodic table is: Y174 L,/u‘!&’f S5 440109
(A) 4thi 5 (B) 3di - (C) 201, (D) 1ty
110.The sixth and seventh period in the long form of periodic table are called:
e b U S Ut Lz S S s T 06 E9110
(A) Short periods J4 z <. (B) Normal periods sz J & (C) Long periods sz £ (D) Very long periods
Y RSTIIT

111.The 15t period in modern periodic table is called: :‘at‘lk'(fwl%«ﬂd"‘u@w&#-’m
(A) Long period 4z £/ (B) Normal period &z J .t (C) Short period % z <. (D) Very long period 4z ¥ $42
112.The longest period in the modern periodic table is: :‘éfwy;gu&)ﬁ' J;ww.m
(A) 31~ (B) 45 (C) pthes (D) 7t Uit
113.The number of electrons in the valence shells of halogens is: :‘agmw'fé/ u,/‘-glu:f ﬂqé ;6)5.113
(A) 5 (B) 6 ()7 (D) 8
114.How many groups are there in long form of periodic table? ?ug‘Lnb’a/ Zu:}{ .ﬂw.}fps.@AM
(A) 7 (B) 8 (C) 12 (D) 18
115.The blocks in modern periodic table are: w1 WJ-"' S s e15
(A) 2 (B) 3 (C) 4 (D) 5
116.Alkali metals belong to: :‘adl” K}":ng.HG
(A) 15t group = o+ &/ (B) 20 group = o+ 4£ (C) 3 group = 2/ 5% (D) 4th group = 2./ #4
117.The extreme left side elements of the periodic table are called: b %lLl,qlguﬁ,Jwédf: a7
(A) Alkali metals * ng (B) Alkaline earth metals (C) Halogen group .?Af s (D) Noble gases - }7

K G
118.The number of elements in the 61" period is: PR u’%"t’luffmz;.HS
(A) 8 (B) 18 (C) 22 (D) 32
119.The base of long form of periodic table is: :;.:g&f ST 652119
(A) Mass number ~ L (B) Atomic number + &t (C) Atomic mass 't ¥ (D) Avogadro’s number

A 35

120.The number of elements in the first period of long form of periodic table: : "~~1J%%£J¢' _ﬁw_}T(JGJMZO
(A) Two » (B) Three ¢ (C) Four (D) Five
121.How many horizontal rows are there in long form of periodic table? :ugq/usd‘;u;?( u.‘.'df': ..J’jw..sTr/GJ).121
(A) 32 (B) 8 (C) 7 (D) 18
122.Which group in long form of periodic table is called group of noble gases? v‘au{ Kurf Ji)?,/ (B7f utdff S 5.122
(A) 15 (B) 16 (C) 17 (D) 18
123.Law of octaves was presented by: oL j;;uf 327 37,0123
(A) Newlands &_ jidy (B) Dobereiner i_ 1.5 (C) Mendeleev i &) ix (D) Mosley . L_J»

124.The amount of energy given out when an electron is added to an atom is called:

¢ Qe 3o 13 253 HF e b C o B Lk i1 2124

(A) Lattice energy S./1 e (B) lonization energy (C) Electronegativity (5. ,;J/? 2 A9 (D) Electron affinity & o A
G ST

125.Which one of the following halogen has lowest electronegativity? ?4.(/ gq&;@, }?lJ J;}:q/ e SS30..0125

(A) Fluorine ¢7.s? (B) Chlorine ¢/.# (C) Bromine x5 (D) lodine ¢/ 7

126.Along the period, which one of the following decreases: ?‘g&wﬁ’ 5& s eSS hnk1.126



(A) Atomic radius (=%, LT (B) lonization energy (C) Electron affinity & «is # (D) Electronegativity § % 5 2

Gt ST
127.Electro negativity of fluorine is: e ‘,‘....';/‘-gtJ 127
(A) 4.0 (B) 3.4 (C) 3.2 (D) 3.0

128.Which of the following halogen has the greatest value of electro negativity?

?‘ga)ycq&{*‘fg)}glJﬁ?;&lu‘iﬂd’“}g/ﬂﬂ28

(A) Chlorine Q”b/ (B) Fluorine ¢/.s# (C) Bromine o5 (D) lodine 57
129.Electro negativity of chlorine is: :‘a&z"r.? 3 20185129
(A) 3.1 (B) 3.2 (C) 3.3 (D) 3.4
130.Atomic radius of carbon is: :‘auiz,,..ﬂwﬁ.w(.13o
(A) 67pm (B) 77pm (C) 87pm (D) 97pm
131.Reason of increasing ionization energy is a period is: :‘4.3,0/ 2 5 L GARALET % m131
(A) (B) (€) (D)
Increasing the number of shells Decreasing the number of shells Increasing the number of Increasing the force of attraction
5 5 electrons between valence shell electron
St e § K S S §F
. and nucleus
Sl sl o M) o
L L u:"{;j/,l yi,}?i)fu"’ﬁ,
RIS o) d/u::f
132.Point out the wrong statement about electron affinity: -Qj/ Gs u,l,«.bk'dw Lét‘flu,}gl.132
(A) Itis measured in kJmol"!  (B) Energy is released (€) (D)
. ) g ) Itis gradually decreasedina Itis gradually decreased in a
Fedukdmol'e dp § ot &t AEEA LU period group
‘Lgﬂ[c/}uﬁjﬁﬁg %&”{@//&Uﬁfﬁjg
133.lonization energy of sodium is: :q.(}n&jlcﬁft,{ﬂ}/ (3133
(A) 377 kdmol! (B) 403 kJmol"! (C) 419 kdmol! (D) 496 kJmol!
134.Which of the following is a period in which ......... is decreased from left to right?
S ot L L LA bl L e 52000134
(A) Atomic radius o4, & (B) lonization energy (C) Electron affinity &% ws 281 (D) Electro negativity &5 +£ #6
Gt ST
135.0ctet rule: ~Je0.135
(A) Description of eight electrons (B) (C) (D) Attaining of eight electrons
P Picture of electronic Pattern of electronic e
eole § 7081 1 configuration configuration S €0 2 T
B A e g g 4
136.Atoms react with each other because: A Sk L k] (‘11.1 36
(A) They attract each other (B) (C) They want to stable (D) They want dispersion
They have shortage of electrons <
SIS AN o y J Gzt s (T s D g-a" £ o
Ladﬂu{u('/'v”g'ufuf
137.A bond formed between two non-metals is expected to be: -€n4/)J,‘cgm;&uyuéﬂ‘:ucnj37
(A) Covalent e:ksy” (B) lonic —£¥7 (C) Coordinate covalent (D) Metallic —£=
I e
138.A bond pair in covalent molecules usually has: -‘gt‘}fﬂf /’.ﬁ,‘cg;zrw}‘{gt.‘ﬁymw

(A) One electron ws *&s (i (B) Two electrons s 48 »» (C) Three electrons #+ 4 £ (D) Four electrons 5» 4
139.Which of the following compounds is not directional in its bonding? S0 F e L Euus U e Ut 502139
(A) CH, (B) KBr (C) CO, (D) Hy0

140.Identify which pair has polar covalent bonds. e Ukl ecdad g U Ut 5005140



(A) Cly.s1 O, (B) Ny H,0 (C) CoHpust HyO (D) HCL» H,0

141.Covalent bond involves the: —e Al 41
(A) Donation of electrons (B) Acceptance of electrons (C) Sharing f electrons (D) Repulsion of electrons

§ ks £ s AL m—‘%«/{u $ 5 KL 5 K Uid e s AL

142.How many covalent bonds does molecule C,H, have? ?9?}1‘}:} 4}2@2’5(),:?1.( CoHj.142
(A) Two » (B) Three o (C) Four ¢ (D) Five ég

143.How many electrons does a triple covalent bond involve? sl o BN Sk iksd J2.143
(A) Eight £7 (B) Six 2 (C) Four ¢ (D) Only three o s~
144.Which pair of the molecules has same type of covalent bonds? ?‘aﬁ bk 8 L2l ¥ Attt 144
(A) HCl and O, (B) N2 ang O2 (C) C2Hg andO2 (D) CoH2 ang O2

145.The chemical bond formed by mutual sharing of electrons between atoms is called:
e b B e ST AL 5 B n L A1.145
(A) lonic bond X £¥T (B) Metallic bond &\ &+ (C) Covalent bond x{ <:Lsy (D) Co ordinate covalent bond
o eiksd o $5TY
146.If the covalent bond is formed between two same kind of elements then bond will be:

S S LI IE s £ A1 28 L bt sf 11146

(A) Polar covalent bond (B) Non polar covalent bond (C) Metallic bond %\ &> (D) Dative covalent bond
Kk ekad Jy s ekad Dy ot #eksd 45
147.Which one of the following is an ionic compound? ?‘gﬁy’ LT e L5147
(A) HCI (B) CHy (C) NaCl (D) BF4
148.Reason to form ammonium ion is: :9&&(&‘,&7(&1.148
(A) Covalent bond { w:Lsy (B) lonic bond k{ £¥7 (C) Metallic bond k{ &+ (D) Co ordinate covalent bond

o eiksy sty
149.Covalent bond in methane is called: :;.t'n,‘cg.*«:&;/ U’}L'g%u:d:;: 149
(A) Single £~ (B) Double (C) Triple (}# (D) Dative %3
150.The bond present in H-F molecule is called: ?‘gt'yz((:’ ' ,‘cl,Ut;ngggtﬂJ;?l.H-F 150
(A) lonic £¥7 (B) Non polar/y ¢t (C) Polar covalent et/ /y (D) Co ordinate 25,74
151.lonic character predominantly appears in any bond if: :.,».4.@1,,7.,)@ /-’:// ..J:/,ffg.’:,‘cuf u’f.1 51
(A) (B) (€) (D)
The difference of The difference of The difference of The difference of

electronegativity is greater than electronegativity is less than 1.7 electronegativity is equal to 1.7  electronegativity is zero

M ) w AT REE D wa LT aE A e
ol e 1.7 3 K GE ) L
152.The result of transfer of electron appear to: :‘atﬁ.g?KJi‘ Jy', /?luymﬁ 41152
(A) Metallic bond (B) lonic bond (C) Covalent bond (D) Co ordinate covalent bond
Ut e i U e § i LT Utz § i acksd Ut e § e 2iksd 2237
153.Molecule having triple covalent bond is: e bbb itk f 2t ? Jo.153
(A) Hy (B) O, (C) N, (D) CoHy
154.Covalent bond is a result of: e £ Saclsf 154
(A) Donating of electrons (B) Gaining of electrons (C) Sharing of electrons (D)
. g ¢ s, g ¢ 55 § 5 zzz;lsri]\/se forces between

K a8 g 59 28

155.How many electrons take part in triple covalent bond? ng..ou; }Qlﬂdi’&:ﬁy/ ¢}.155



(A) 2 (B) 4 (C) 6 (D) 8

156.Molecule having triple covalent bond: :g.blggg,‘cg.::{.;f ‘,Z/‘u.’: J? J;;QM 56
(A) Hy (B) O, (C) N2 (D) CoHy

157.The bond formed by complete transfer of electrons between atoms is called:

:‘gmf}cgm,&cfz‘}ﬁfy’,}?wyuéﬂj 57

(A) lonic bond X £¥T (B) Covalent bond %\ ety (C) Metallic bond &t &> (D) Co ordinate covalent bond
VNI LY e

158.Which molecule has polar covalent bond? e barkiechss )gdd:;?l.‘//.158

(A) Hy (B) Clp (C) HCI (D) N

159.The number of electrons in the valence shell of chlorine is: :4.3;1;!;51'6/'/’;}?1‘;&? u"‘i,ziqjﬁ.159

(A) 6 (B) 7 (€) 5 (D) 4

160.Which one of the following is an electron deficient molecule? ?‘galgégur o At U e Ut 520160

(A) NH3 (B) BF3 (C) N2 (D) Oy

161.Which one of the following is the weakest force among the atoms?

?‘auji/u/}q}'/)ﬂl;';lg(jguyuLﬁl;uﬁd;’@»ﬂ 61

(A) lonic force .9 —E¥T (B) Metallic force (7.9 &> (C) Intermolecular force (D) Covalent force U ek sy
g LA g
162.Ice float on water because: ?‘48 yrs 4,l£<3gd4.162
(A) Ice is denser than water (B) Ice is crystalline in nature ~ (C) Water is denser than ice (D) None of these 10 §¢ Ut o
+J5J/cdgdz LLGMJU‘//&VJJ/. eJ?/LJ4Jg
163.Which of the following compound does not dissolve in water? suf /“,gd’ w&g,‘vfy’ Loy eSS 50..163
(A) CgHg (B) Nacl (C) KBr (D) MgCl,
164.Boiling point of sodium chloride is: :;.&lgﬂ’u&yu){(&yjm
(A) 800°C (B) 1413°C (C) 100°C (D) 0°C
165.Boiling point of water is: :‘4&1{.@’1){ K&gj 65
(A) 99°C (B) 100°C (C) 101°C (D) 102°C
166.Melting point of sodium chloride is: :‘aﬁlg_ﬁ?&?u}ﬁk.wﬁ
(A) 800°C (B) 801°C (C) 802°C (D) 803°C
167.During the formation of chemical bond, which forces become dominant? S tdstti .9, (:' S & & B 6T
(A) Repulsive forces ».# »+.  (B) Attractive forces ».9 #£  (C) Wander walls forces (D) Hydrogen bonding
09 sy S Pk
168.In hydrogen bonding: e Gon 047|168
(A) Attractive forces .3 /54 #1 (B) lonic forces o3 £ (C) Covalent forces 24 <:4ss (D) Metallic forces (3 &
169.Hydrogen bonding is represented by: i tl b Pt 169
(A) Dotted lines = /v #5Q  (B) Single lines = v S+ (C) Double lines = /v 3 (D) Triple lines « /v }/
170.Melting point of sodium is: e &A1y LSy 170
(A) 100°C (B) 496°C (C) 97°C (D) 650°C
171.Methane is an example of: :‘adlﬁﬁ@kjﬂ
(A) Single covalent bond (B) Double covalent bond (C) Triple covalent bond (D) Dative covalent bond
§ o ecsd S ot kel U3 o ekl IS
172.Density of water is: ;‘43,,‘3?‘.;‘5’ G,l,'.1 72

A) 2gcm ™ B) —2gcm* C) lgcm™ D) —lgcm™
(A) (B) (€) (D)



173.cldentify the compound which is not soluble in water. ?‘guj 4,;")’ ut&gfcf, U e AL 50.173
(A) CgHg (B) NaCl (C) KBr (D) MgCl,
174.1f the difference of electro negativity between two elements is more than 1.7 then the bond between will be:

:b’n,‘cguuz‘,_uy»aiun;’nuy:.1 7‘3/ K&:;‘z?:/‘?tuyuéuf“‘imﬁ A74
(A) lonic £¥7 (B) Covalent ek sy (C) Co ordinate =.x5.74 (D) Metallic &=
175.1f the difference of electro negativity between two elements is less than 1.7 then the bond between will be:

:b’xk@ﬂbfﬁ.uyuécﬂ;n[:.1 .7‘3}(&{:‘.‘.?)/"?!@.?/;5%‘!»/“ A75
(A) Covalent et ss” (B) lonic —£¥7 (C) Non polar /¢ wt (D) None 7 (¢
176.What concentration of salts is required to remove unwanted bacteria?

te QoI FEAL L SP\ 2Kons 036176

(A) 5% (B) 10% (C) 15% (D) 20%

177.Metals are good conductor of electricity due to: 0 P 1S5 }g'/’J)bd)i wATT
(A) Mobile electrons (B) Metallic cations (C) Hardness &+ £ i =5 (D) Mobile protons

= 23 S e & A = 2§y Sy

178.Which of the following molecule is not triatomic? ?‘gu:‘f bﬂﬂéu‘d;;?tu:( =178
(A) Hy (B) O3 (C) H0 (D) CO,

179.How many times are the liquids denser than gases? ?ujé’.mfzbfuyb( Ve ,! él. A79
(A) 100times 100u” (B) 1000times 1000¢” (C) 10,000times 10,000t (D) 100,000times 100,000:"

180.Gases are the lightest form of matter and their densities are expressed in terms of:

S bl b UL 1 T S st o 5 S 0180

(A) mgem3 (B) gem™® (C) kgdm™ (D) gdm™3

181.Which one of the following motions are possessed by solid particles? ?‘aégégu’ru) 'y ;wul‘x}‘f’/gu’/ 181

(A) Rotational motions ¢/ »* J}:u (B) Vibrational motions (C) Translational motions (D) Both B,C usss & 291 —
S oy J}fu I/

182.Which one of the following gas diffuse rapidly? te 038 52 UL e e 182

(A) Hydrogen (7542, (B) Helium (ff (C) Chlorine ¢4 (D) Fluorine ¢/

183.Density of a gas increase, when its: :_,9.4.6’26""15‘5/;,){183

(A) Temperature is increased ~ (B) Pressure is increased (C) Volume is kept constant (D) None of these % §# Ut o

ey by 2y o b e,

184.0ne atmospheric pressure is equal to how many pascals? -‘Lb‘n/,l4£%/££ A4.184

(A) 101325 (B) 10325 (C) 106075 (D) 10523

185.Density of a gas increase, when its: :.fz‘aé’zé“iﬁfu'ﬁ%

(A) Temperature is increased  (B) Pressure is increased (C) Volume is kept constant (D) None of these U s Ut

ey e iy & G 22T

186.0ne atmospheric pressure is equal to how many pascals? -g.t'n/.l/,éf/géf A 1atm 186

(A) 101325 (B) 10325 (C) 106075 (D) 10523

187.The gas which has higher rate of diffusion is: Y BRI, 7') il qu.187

(A) Helium g‘f (B) Hydrogen 5,44 (C) Fluorine ¢7.s# (D) Chlorine ¢/ .+

188.The simplest form of matter is: :4..:)(0(‘):}0)(«-'(5/4_)(..188

(A) Solid (B) Liquid &t (C) Gas ¥ (D) Plasma s

189.Atmospheric pressure at sea level is: e bt 2y S A5 189

(A) 760 mm Hg (B) 700 mm Hg (C) 780 mm Hg (D) 750 mm Hg



190.Puncture of tyre is an example of: :‘adl#lm 467190

(A) Effusion § w2 (B) Diffusion § 5 (C) Evaporation § o5z (D) Condensation § =~

191.Which of the following gas diffuse more rapidly? PSP P, 2ol Gl e o191

(A) Hydrogen /%147, (B) Helium gi” (C) Chlorine Q/% (D) Fluorine ¢7.s*

192.Gases can be compressed due to: £l ‘ab'lggy;/ Ur.‘f//.192

(A) (B) (C) (D) Molecules has large size

No spaces between gas More spaces between gas Molecules are closer to each

molecules molecules other -tz en A K £

i de s ZIRAL At enopn LIRE A 2w fen Lo pn g1

En AN o

193.Instrument used to measure atmospheric pressure is: i ST /‘:.4./ 64193

(A) Manometer ~ 4. (B) Barometer s (C) Electrometer ey (D) Unit meter ~ =y

194.Instrument used to measure pressure in laboratory is: :‘a,ﬂm,gt }’.4&6}/(,.4.194

(A) Hydrometer ~s.47, (B) Thermometer ~\ # (C) Manometer ~ s\ (D) Barometer ~

195.Densities of gases is measured in: St i SS ,,w( fg /;‘"150/ ;'!.195

(A) gdm (B) kgdm (C) gem* (D) mgdm "

196.The instrument used to find pressure in laboratories is: :‘aJTKJ_/ (P RS 244.196

(A) Hydrometer .47, (B) Manometer ~ s (C) Thermometer ~\ 5 (D) Galvanometer e

197.The unit of pressure is: et g6 2197

(A) Joule J (B) Pascal J@ (C) Ampere ~%i (D) Gram (uf

198.0n what temperature the volume of gas becomes zero? o mz,,)p:‘l;(u’{ 45./;; 198

(A) 273K (B) 173K (C) 73K (D) -2730C

199.0ne atmospheric pressure is equal to ......... torr: ?4.”/,!/,&)/&{ /‘:.4_1’ 6 £1.199

(A) 101325 (B) 765 (C) 760 (D) 10325

200.In Charles law, K is equal to: :‘at'n/,u,kuf:»ucf)lg 200

AL B) TV © Y D) ¥

v I P

201.In SI, the unit of pressure is: :‘aﬁgﬁft("“g/f'.4.201

(A) Nm (B) Nm2 (C) ms™! (D) ms™2

202.In Boyle's law, the constant quantity is: :‘gjl,&’».*ﬁfjf o S11.202

(A) Volume (+1s (B) Pressure 2 (C) Temperature z 'l (D) Mass Ut

203.The value of absolute zero is: :‘4#,&41’.:«:1;’%1.203

(A) -273.15 °C (B) 273.15°C (C) 0°C (D) 100°C

204.Freezing point of acetic acid is: ity ey K B 204

(A) 14.6°C (B) 15.6°C (C) 16.6°C (D) 17.6°C

205.The speed of evaporation when we increase temperature: :‘aélgmi:i/d/ u”fu,,;.glLLlpz 3 /;.} 205

(A) Increase s\ J (B) Decrease ¢ (C) Remains same .- (D) No change b o 3/ &5

206.Density of water is: :96“’;150’ 83.206

(A) 1.0gcm™? (B) 1.0cm™* (C) 1.0dm 3 (D) 1.0mg.cm™?

207.Vapour pressure of water at 100°C is: Y2 ,,,(&34100%.207
g

(A) 140 mm Hg (B) 360 mm Hg (C) 580 mm Hg (D) 760 mm Hg

208.During evaporation, the molecules which escape out from liquid surface have:

e St LS S8 Bnt S LPupy 208



(A) Much less energy 8.1 ¢ =« (B) Moderate energy value
& Qs
209.Which one of the following is not amorphous?
(A) Rubber 2. (B) Plastic &1
210.Density of aluminium is:
(A) 24gem ™ (B) 2.5gcm™*
211.......... is an example of amorphous solid:
(A) Sodium chloride 41 5 (B) Diamond 415
212.Which of the following is crystalline solid?
(A) Rubber 2. (B) Plastic €14
213.Concentrated solution of common salt is called:
(B) Paints %

214.The example of universal solvent on Earth is:

(A) Brine (/1.
(A) Water 3 (B) Alcohol 4
215.Which of the following is not an amorphous solid?
(A) Rubber 2. (B) Plastic &1
216.The example of true solution is:

(A) Starch solution * & &= (B) Tooth paste =z 5+
217.The compound which is used as a universal solvent is:
(A) Water & (B) Petrol Js %

218.The minimum components of a solution are:

(A) Five &4 (B) Two »»

219.The simple method to differentiate between solution and pure liquid is:
(A) Evaporation ¢/ s 41 (B) Distillation J/ﬁ’f“ 5

220.Solvent in soft drinks is:

(A) Benzene o (B) Water 3

221.When a saturated solution is diluted it turns into:
(A) Supersaturated solution (B) Unsaturated solution
Ik s I ks o

222.Mist is an example of solution:

(A) Liquidingas&. o ¥ (B) Gasin liquid o o &
223.Which one of the following is a ‘liquid in solid’ solution?

(B) Butter o=

224 \Which one of the following is heterogeneous mixture?

(A) Sugar in water /3 = d
(A) Milk ¢ (B) Ink dtzs,
225.Mist is an example of:
(A) Liquid in gas &L o* U7
226.Butter is an example of:
(A) Liquid in gas &4 ot U
227.Alloy is an example of:

(A) Solidin gas § u# ot U7

(B) Gas in liquid o o &

(B) Liquid in solid &u o* U+

228.Which of the following is an example of solid in solid solution?

(C) Very high energy §.1 o7 = (D) No energy O S G

?‘guﬁ}u’);(fouﬂlﬁféut(dl.zog

(C) Glass 2 (D) Glucose 5%
e S .210
(C) 2.6gcm™? (D) 2.7gcm™?

e JOUI AL 211
(D) Glucose 5+

te Bl 212

(C) Plastic £

(C) Glass (D) Glucose 5%
e bl P G213
(C) Jelly &2 (D) Chalk solution o+ ¥ &

e oS endr g ot 214
(D) Ether i
S S istig Al e Ut 50215
(D) Sodium chloride 41, (3
e Je S Hi2.216
(D) Ink in water - o L

(C) Ammonia i+
(C) Glass ¥

(C) Soap solution o7+ § il
:‘Lb'ndlrz"l/’u"L&J}’J/ﬁ{iki%}.ﬂ7

(C) Alcohol 50 (D) Benzene ¢/
(2L S 218
(C) Three o# (D) Four

(e 3 AR S O S 219
(D) Halogenations o=~ s

e Lty i UF ALy 220
(D) Oil £
e bk I b LK b 2 2221
(D) None of these U7 5 % wi

(C) Hydration o7
(C) Milk 2235

(C) Concentrated solution
e el U 42222
(D) Gas in solid &u o* U+
e VLU # P e 1223
(D) Fog +~
te g U S e 50224
(C) Milk of magnesia & 57 i (D) Sugar solution /s~ ¥JS#
e JodFhry er.225
(D) Gas in solid o o ¥
(e JodF ol 226
(D) Solid in liquid o # * &\
S JeS b U .22

(C) Solidingas s # o ¥

(C) Opal & u* 4y

(C) Solid in gas u# ot 7

(C) Gas in liquid 7 U &L

(B) Solid in liquid § o'# o & (C) Solid in solid § u# U U# (D) Liquid in solid § &L ot U #

S JESUE LU S T e h.228



(A) Opals (B) Fog «2» (C) Butter = (D) Dust in air &5 (=15

229.0pal is an example of: te JBg.229
(A) Liquidingasd. ot 0¥ (B)Solidingasu# ot of°  (C) Solidinsolidu# o u# (D) Gasinsolid o ot u#
230.Types of solution are: jutpUIg A 4,230
(A) Seven =L- (B) Eight 27 (C) Nine ¥ (D) Tenyu

231.Air is an example of: ?;.Jl‘}d/ T 10.231
(A) Liquidingasd. ot ¥ (B) Gasingas? ot Y (C) Solid in liquid s o &. (D) Liquid in solid &t * U+
232.Which of the following solution is an example of liquid in liquid solution? ?‘gétu‘:étu’}‘lzuf e w232
(A) Fog 42> (B) Mist #~ (C) Alcohol in water Sl &g (D) Butter o=

233.Smoke in air is an example of: :g.dt‘ﬁ*um;u.’:m.233
(A) Gasingas S u¥ ot o (B) Gasinliquid§ of £ & (C) SolidingasS U Ut o (D) Solidin solid § U Ut U
234.Butter is an example of: ?‘gdt}»d/ P o234
(A) Liquidingas &t ot ¥ (B) Gas in liquid o ot &l (C) Liquid in solid & o # (D) Solid in liquid o # % &L
235.The example of liquid in liquid solution is: :g.dl‘}d/ u’#éuﬂétl%
(A) Alcohol in water F 41 ot 3t (B) Airis (C) Butter o** (D) Opals

236.Brass is an example of solid solution: e JeS P U P SE236
(A) Zn+C (B) Zn + Fe (C) Zn + Cu (D) Zn + Al

237.The example of liquid in gas is: ‘:q.dl‘;‘ﬁd/ étgﬂu{.237
(A) Airis (B) Oxygen J"JT U2 &g (C) Fog x=> (D) Smoke in air 1> U 15
238.Concentration is ratio of: -‘a.»y'd’ %2238
(A) Solvent to solute (B) Solute to solution (C) Solvent to solution (D) Both a and b U#ss —
Sy o wxd S+ e ooy S+ e el

239.Which one of the following solutions contains more water? ?‘grm;yégutu’)q/ e au.239
(A) 2M (B) 1M (C) 0.5M (D) 0.25M

240.1f 10 of alcohol is dissolved in 100g of water, it is called: i ‘Lw{;’d;/&@gﬂ u.’110cm3&g f' J/100./7-240
(A) %m/m (B) %mlv (C) %viw (D) %viv

241.Molarity is the number of moles of solute dissolved in: -1 z‘a;lﬂud/)‘ré.w.!r& 241
(A) 1kg of solution (B) 100g of solvent (C) 1 of solution J* £ <=~ (D) 1 of solution & £ 74

U S ENL S Ut 1S 100L sl

242.5% sugar solution means: 1S el /;cf}“ﬁ/ #5% .242
(A) (B) \9) (D)

5 gram sugar is dissolved in 90 5 gram sugar is dissolved in 100 5 gram sugar is dissolved in 105 5 gram sugar is dissolved in 95
gram of water gram of water gram of water gram of water
VFES 2o 5ude, 1005 8S 2 5ud /10558 2 /5ud e/ 58S 2o /5udnS
-+ -+ -+ -«

243.The number of moles of solute dissolved in one solution is called: :ga%lﬁ‘ﬁréu&‘f SS ST+ (1.243
(A) Solubility .2+ (B) Molarity & 2+ (C) Colloid" 4715 (D) Suspension %
244.Concentration is a ratio of: PR (g ,‘7;{.244
(A) Solvent to solute (B) Solute to solution (C) Solvent to solution (D) Aand B both Usss o sl 3
Sy o wudsr S+ e ooy S S+ e wndy

245.The number of grams of solute dissolved in 100 grams of solution is called:
e bW T P EANNL P b 2 itiirns e pi S S sl 245
(A) Mass/Mass V/t (B) Mass/Volume =15/t (C) Volume/Mass /(21 (D) Volume/Volume (1s//21s



246.If the solute-solute forces are strong enough than those of solute-solvent forces. The solute:

by JUnbs ol ie v i3 Loy 19 Ly sl 11.246
(A) Dissolve readily (B) Does not dissolve i oS (C) Dissolves slowly (D) Dissolves and precipitates
<t U e tnf e = U o tnlf
247.Which one of the following will show negligible effect of temperature on its solubility?

WS W E L (G SV e 24T

(A) KCI (B) KNO4 (C) NaNO4 (D) NaCl

248.......... molar sugar solution is more concentrated: S b it 1t u,t,)J)*/fﬂK/ﬁ.MB
(A) 1 (B) 2 (C)3 (D) 4

249.The compound which does not dissolve in water is: :l:'nu.‘f S Jf&gzﬁgﬁ;.zm
(A) KCI (B) Na,CO3 (C) CuSO4 (D) CgHg

250.Which of the following dissolve in water? ?‘Lﬂgndi g}f&g..{ll,«u/ e St30..0.250
(A) Alcohol Jﬁ’ (B) Ether 4 (C) Benzene ¢/~ (D) Petrol s 4

251.Tyndall effect is shown by: —e b Soplrbely )i 251
(A) Sugar solution s~ ¥ /¢ (B) Paints % (C) Jelly & (D) Chalk solution ¢/ ¥ (e
252.Tyndall effect is due to: e o’ L2252
(A) By stopping the rays of light (B) (C) By spreading of rays of light (D) By passing of rays of light

By not spreading of rays of light

e 8L Lot §Fy i Lt G e S LU S E

S i Lyt Gy «
253.The example of suspension is: :‘adt‘ﬂd/ f"e/ SS56.253
(A) Milk of magnesia 22 7 & (B) Ink ¢z, (C) Jelly &2 (D) Tooth paste == 44
254.The color of concentrated solution of potassium permanganate is: :‘at'n.f;(cf}’f /L.:‘:{Q‘/,(f ty.254
(A) Darkred 1/ (B) Dark green ¢/ 1,/ (C) Dark purple 1/ (D) Shiny yellow 1k 142
255.The example of suspension is: :‘gdl‘}'d/ u‘"':/ 255
(A) Starch .t (B) Blood w# (C) Milk 2355 (D) Paint =z
256.Milk of magnesia is an example of: :‘adlﬁgl;.é?JTJ.ZSG
(A) Solution ¢f (B) True solution ¢/ » (C) Colloid s vy (D) Suspension =%
257.The example of false solution or colloid is: e JBd S Jrd b 65257
(A) Paints -5 (B) Starch .t (C) Sugar inwater # 4t (D) Saltin water ¢/ Ut (i
258.The example of colloid is: :‘gdl‘ﬁ‘d/ﬁo’ ys.258
(A) Starchg.t (B) Paints -5 (C) Milk of magnesia ¢ 7 (D) Chalk in water & U &g
259.Electrochemistry is the branch of chemistry which deals with: :98/ uy.z‘gf}'u{ $ /'t‘./;}glél;’"m! $ //3/.259
(A) Carbon and its compounds (B) Solute and solution (C) (D) Metals and non metals
el LUl g Tl ol i:gggﬁg and chemical Kl S

TN P

260.The branch of chemistry which describe a relation between electricity and chemical reactions is called:

e Qe 3 F o £AE S0 5 29 2 s S5 24260
(A) Organic chemistry (B) Inorganic chemistry (C) Electrochemistry ¢ /f(; 91 (D) Industrial chemistry
T $ A LT SAE

261.0Oxidation process consists: :‘grn.»_f L 4/7.261



(A) Addition of oxygen (B) Addition of electrons (C) Removal of electrons (D) Addition of hydrogen

v ¥ T Jr 655 2 LIAE 5 A U € P

262.The oxidation number of chromium K,CroO7 in is: S bl 5%l K(f)/ J~ KyCry07.262
(A) +2 (B) +6 (C) +14 (D) +7

263.The oxidation number of H in HCl is: :‘a/cﬁ,f«/THJfHCI 263
(A) -1 (B) -2 (C) +2 (D) +1

264.The oxidation number of all elements in the free state is: :‘Lt'n/u"ig/T Kﬂ:rmx:)u,m.zm
(A) -1 (B) +1 (C) -2 (D)0

265.The oxidation number of hydrogen in metal hydrides is: :‘4m/ ST Rt S5 (.265
(A) -1/2 (B) 0 (C) +1 (D) -1

266.The oxidation number of oxygen in per oxides is: :‘glm/ ‘ﬁ,‘/‘f ch;ff T 4.266
(A) -1/2 (B) -1 (C) +2 (D) -2

267.The oxidation number of oxygen in :‘al:n/ ﬁlﬁa/f (d?“'rf e 267
(A) +2 (B) -2 (C) 112 (D) -1

268.The oxidation number of nitrogen in nitric acid is: :‘ab’yt/ Fa T FoUt 1o S #1.268
(A) -5 (B) 5 (C) +5 (D) +6

269.The oxidation number of sulphur in sulphuric acid is: :‘4bn/u?',§ﬁ()l‘ut LS. 269
(A) +6 (B) -6 (C) +5 (D) -5

270.The oxidation number of chorine in potassium chlorate KCIO3 is: :‘gt'x/g?% Kep s ..wﬁ(f ¢y KCI03.270
(A) +4 (B) -2 (C) +5 (D) -1

271.In the redox reaction between Zn and HCI, the oxidizing agent is:

?‘Lt'nu,{ ] jfl}&/‘/f ub»d:cf{l dj‘//!:b,/uy‘n Li{,ld/nguéﬂu! £7.271

(A) Zn (B) H* (C) cr (D) Hy

272.The specie which reduces the matter giving electron is called: :4.311[:4.;/ U b e/ Py (7 2 Sa5.2T2

(A) Oxidizing agent (B) Reducing agent (C) Coloring agent (D) Dehydrating agent

273.Formation of water from hydrogen and oxygen is: ?‘gu’ﬁdjtﬁ.‘f Uit t‘e(&ka—cﬁ{f I S32,.2T3

(A) Redox reaction (B) Acid-base reaction (C) Neutralization %71 /5 (D) Decomposition J:L;

B0y GG N7 U

274.Addition of oxygen in chemical reaction is called: :‘ab'lk( Jr® Ku?*ff ulwéuﬁﬁd/‘ﬁ.‘fzm

(A) Redox reaction S8 S (B) Acid-base reaction (C) Neutralization %7 2 (D) Decomposition u"%/rf 53
& UL

275.Which of the following does not occur during the formation of water by hydrogen and oxygen?

?C'Muﬁigbga_‘ﬂd’“}@»uw)éfé&&ka_gf;fful@3}15&.275

(A) Oxidation of hydrogen (B) Reduction of oxygen (C) Oxygen gains electrons (D) o

NI S T T U
(PP { AT P
«df

276.Removal of electrons is called: :‘gc'llv/ @l/’l(y’;}gl.ﬂﬁ

(A) Oxidation o x/7 (B) Reduction s (C) Hydration o4 (D) Hydrogenation ‘f’f'fu‘/g

277.Addition of electrons is called: :‘41:'11{ Jr® Ku,}gl.277

(A) Reduction (B) Oxidation ¢ 4/7 (C) Redox /s & (D) Electrolytes 15 *

278.Spontaneous chemical reactions take place in: ?g.mutdr J‘/ u’{ld/gﬁ‘f w,i.néwijl.278



(A) Electrolytic cell £ —&4 s £ (B) Galvanic cell & &1 (C) Nelson’s cell & o (D) Downs cell £ 315

279.Which one of the following is not an electrolytic cell? ?wf K Jj, ;l.?;uf e SS500.279

(A) Downs cell & 313 (B) Galvanic cell J= @i (C) Nelson's cell & o (D) Both aand ¢ Uss &

280.Which one of the following is not an electrolyte? ?‘Luﬁ’ _»;u,;.%/ SS50..280

(A) Sugar solution 7+ ¥ /¢ (B) Sulphuric acid solution (C) Lime solution /& ¥2_2 (D) Sodium chloride solution
K L L S Lk

281.The types of electrochemical cells: :u,:/rL—’"lJ)f J%C(,/‘-gl.281

(A) Two » (B) Three o (C) Four i (D) Five 6&

282.Weal electrolyte is: RO 201,04 (1282

(A) NaCl (B) NaOH (C) H S04 (D) CH3COOH

283.Which of the following is a weak electrolyte? Sl A1 s A e J4.283

(A) HoSO4 (B) HCI (C) HNO4 (D) CH3COOH

284.Which of the following is a strong electrolyte? ?‘4.‘.;0;}?1/3’3&49:( = St50..284

(A) Solution of common salt (B) Sugar solution ¢ & ¢ ¥ (C) Pure solution 7+ At (D) Benzene ¢~

S <

285.Aqueous solution of ___is not a strong electrolyte: :;.u.’:" AU 2P F b S I fenneen 285

(A) NaCl (B) NaOH (C) HyS04 (D) CaOH,

286.Which of the following method is used for the preparation of sodium metal?

St Uei1d LSSy 3 v uf e Ue 500,286

(A) Nelson cell & o (B) Down'’s cell & 7513 (C) Galvanic cell & s (D) Electroplating ks 44
287.Pure water is an example of: :g.dl?[}gu”l;.%?
(A) Electrolyte § e2us 4 (B) Weak electrolyte (C) Strong electrolyte (D) Non electrolyte  <2vs 41 it
S ez it § ez 5
288.Aqueous solution of NaCl is called: til i J)/‘/I;QKNaCI .288
T
(A) Starch solution o*# .= (B) Chloride solution o 1% (C) Carbonated solution (D) Brine solution ¢/ s (/1.1
K
289._ s obtained from molten NaCl St bl r_Lnf; NaCl .289
(A) NaOH NaOH (B) Sodium metal J* (s (C) Both uss» (D) None 7 (¢
290.__ isanon electrolyte: el ;éw,g -------- 290
(A) NaClSolution ¢*#NaCl ~ (B) NaOHSolution .*+-NaOH  (C) Sugar Solution o757 (D) HySO,Solution ¢/ HyS0,
291.The example of non electrolyte is: :+J@J¢gu,;?luc.291
(A) NaOH (B) HCI (C) HoSO4 (D) CgHg
292.Which of the following metal is used for galvanizing? e dbd e d £ Esudd S Lis of e bts.0000.292
(A) Fe (B) Cu (C) Cr (D) Zn
293.Gas which is collected at cathode is called: :4.8;1@'745,&’}&/{293
(A) Cl (B) O3 (C) Hy (D) O,
294,

Nelson cell is used for the preparation of caustic soda along with gases. Which of the following gas is produced at cathode?

S Gt ag 3 A5 o e S stn-e bl e L8 S ity XA L urd o ¥ 294
(A) Cl (B) Hy (C) O3 (D) O,
295.Which of the following is not an electrolyte? ?‘gu:‘:’ K .,éj, }’?w«u/ e UL 50.0.295



(A) Down’s cell k= 7413 (B) Galvanic cell £ 14" (C) Nelson cell & o (D) Aand C both Usss & s

296.Example of strong electrolyte is: :g.dl‘,‘*J:,gu;/?w:ﬁlb.ZQG
(A) CH3COOH (B) CaOH, (C) CeHg (D) NaOH

297.Which of the following is not an electrolyte? el SO e S 500,297
(A) Solution of sodium chloride ~ (B) Sugar solution .7+ ¥ /¢ (C) Benzene o/ (D) Ureay.y

S

298.Anode of Down’s is made of: e bt I EUE 5915.298
(A) Iron w7 (B) Steel Jf (C) Graphite 2./ (D) Zinc &>

299.Example of non electrolyte is: :+J&J¢;U;}glub.299
(A) CH3COOH (B) 4% (C) NaOH (D) NaCl

300.Nelson’s cell is used to prepare caustic soda along with gases, which of the following does not occur:

S (ot g3 S e Ut 520300

(A) Cl (B) Hy (C) O3 (D) O,

301.The formula of rust is: S Uy /66 £3.301
(A) Fe,03.nH,0 (B) Fe,05 (C) FeOH;, (D) none

302.The most common example of corrosion is: \PRT O J@ru¢.,wo’ /302
(A) Chemical decomposition  (B) Rusting of iron 0’ £ & ¢ (C) Rusting of aluminium (D) Rusting of tin i/ &5 & ¢/
N o 5 S

303.The method of depositing of the layer of one metal on the other metal is called:

:;.rMJ’KLLz:JJ’fd/»@LJ’f..Q F) :C)“’j)/gl.303

(A) Reduction 4 (B) Corrosion w3+ (C) Electroplating & 42 (D) Oxidation o /7
304.The most common example of corrosion is: ?‘4(5'(;)1( Jc‘rka_/d/ o9./.304
(A) Chemical decay ;# 53 &< (B) Rusting of irontf &5 ¥ s (C) Rusting of aluminum (D) Rusting of tin ¥ &5 & 7

e sys ok
305.Metals can form ions carrying charges: St s fT i #4305
(A) Uni-positive L &y (B) Di-positive #1t dn (C) Tri-positive + .t diz (D) All of them 17

306.Which one of the following metals burns with a brick red flame?

0 GEALIBG oy lnp S S JES S e t1.306

(A) Sodium (%5 (B) Magnesium (:"7? (C) Iron ws7 (D) Calcium (?f

307.Sodium is extremely reactive metal, but it does not react with: -8/ u.‘.’ .yftd/,u’? ‘4‘)’3}56/.:44(55%307
(A) Hydrogen ZLL fs.% (B) Nitrogen £L-L (7 £t (C) Sulphur ZL-L 3+ (D) Phosphorus #L-L (.56
308.Which one of the following is the lightest metal? ?‘Lg,gyu! Ul,é./f4&g/,lq}q;utul.308
(A) Calcium (5‘5 (B) Magnesium ﬁ“f? (C) Lithium (:5:/ (D) Sodium (£5»

309.Which of the following is less malleable? S S S e Ut 50309
(A) Sodium (5 (B) Iron w7 (C) Gold 15~ (D) Silver .+

310.Which one of the following is brittle? ?‘Lrlg¢i48v7ﬂ Vs e 1310
(A) Sodium (%55 (B) Aluminum ﬁ‘»ﬂ&l (C) Selenium (:35 (D) Magnesium (:"ﬁ’?

311.Metals generally have: :‘,56{/41)0’}}":.311
(A) Greater ionization value (B) Less ionization value (C) Greater electron affinity value(D)

Greater electro negativity value
2 UKLSZ):E?’/"?' 31
312.Which of the following metal is less malleable? e S R st it 312

}:}i; u%'//bff 31%; ::,&5 u."?"/’l:;fl’ [ }:}i} J [ u;}gl 131%;



(A) Sodium (€35 (B) Iron 7

313.The most lightest metal is:
(A) Lithium =5

314.The most value able metal is:

(B) Sodium (%35

(A) Silver .+ (B) Platinum &1

315.Which of the following metal is the least conductor of heat?

(A) Zinc & (B) Lead ¢
316.Which of the following metal is not solid?
(A) Zinc —£7 (B) Mercury §./ »
317.Mercury exists in:
(A) Solid U <o U+ (B) Liquid o* =!b &\
318.Atomic size of sodium is:
(A) 160 pm (B) 162 pm
319.Most reactive metal is:
(A) Cesium (£ o~ (B) Rubidium ¢ 4.
320.The color of flame of calcium burning in air is:
(A) Purple black sl §" (B) Golden black 4 ¢
321.Metals form after reacting with oxygen:

(A) Acidic acid Lz S 42 (B) Basic oxide 41T

(C) Gold 4" (D) Silver .+~
?§-qu{<)%0ch.31 3
(C) Magnesium f:“”? (D) Calcium (5{5

te ol Fed e 314
(D) Copper ¢

e o s fi5uf 315
(D) Iron ¢#7

S Ud S uf e tdien316

(C) Gold 5"

(C) Copper ¢

(C) Gold 45~ (D) Silver
e dedys /317
(C) Gaseous o= =k Jf/ (D) Plasma % Ltk
(e ALK 318
(C) 185 pm (D) 186 pm
e Il or319

(C) Potassium (3 by (D) Sodium (%5»
g b £ LAY w2 14320
(C) Reddish brown wsi: J1 G~ (D) Reddish f1 & ~

b L Sk, A ST R 321

(C) Amphoteric oxide (D) Neutral oxide LT J/»
ST S

322.Which of the following metal burns with pale yellow flame in air?

(A) Calcium 2 (B) Magnesium (:"ﬁé
323.Which metal floats over water?
(A) Calcium = (B) Magnesium 2

324.Color of magnesium when it burns in air is:
(A) Brilliant white 4i- (%

325. burns brick like flame?

(B) Red like brick { ~ L wxl
(A) Sodium 3> (B) Potassium =t
326.Color of flame of calcium in air is:

(A) Brick red{ - Le i (B) Golden yellow Ik 1
327._____metal is break able:
(A) Magnesium ,':f’?

328.Heaviest metal is:

(B) Barium ¢ z
(A) Iron w#7 (B) Platinum &1
329.The most frequent occurring metal is:

(A) Aluminium (=41 (B) Gold ¢
330.The color of flame of sodium in air is:

(A) Golden yellow 1k (§ (B) Brilliant white &~

e A LEL iy bne S S5 of e 322
(D) Sodium (£5»
ted,2 0L 5323
(D) Potassium (3 by
e b2 LA S 304
(D) Pale yellow i ».
e (¥ e &2 28 Lifern325
(D) Magnesium (:"i’?
e b ENEE L K 210,326
(C) Reddish brown 1.+ 1 G~ (D) Purple black v¢ "¢
i s I fE e 327

(C) Iron w7

(C) Sodium (£3»-

(C) Golden yellow ik § 7~

(C) Calcium £¥

(C) Aluminium (=4 (D) Sodium (3
‘e S UM o328
(C) Osmium " (D) Lead &/

:‘LJ’:dungégc;gjfugJ;./ﬁZQ

(C) Silver .+ (D) Platinum &1
e b b KEE Ly 212,330
(C) Red - (D) Reddish S & ~

331.Which metal can be drawn into a wire of one and a half kilometer long from one gram?

(A) Silver .5+ (B) Gold t»

te Pt s 2 K op SE T S G LSS 33

(C) Irony (D) Calcium =+



332.A metal which is soft and can be cut by knife is: e FotbesulTpete Qnps S o f* (1,332

(A) Calcium (f‘f (B) Sodium (%3, (C) Magnesium (ff? (D) Iron w27

333.Which metal has no effect of mineral acid or alkali on it? ?l:xzuii b0 KnggMJ 74 Hu w333
(A) Iron 27 (B) Zinc £ (C) Gold 45" (D) Sodium (%55

334.Which one of the following non-metals is lustrous? ?‘ajuﬁ.,d’f i e S 5800.334
(A) Sulphur 3~ (B) Phosphorus (56 (C) lodine o347 (D) Carbon ¢

335.Non-metals are generally soft, but which one of the following is extremely hard?

So ¥ U e Ut Ut b o #2335

(A) Graphite 27/ (B) Phosphorus (.56 (C) lodine o347 (D) Diamond 43

336.Which one of the following will not react with diluteHCI? ot/ LIS L&y e 500,336
(A) Sodium (%55 (B) Potassium (f by (C) Calcium (:‘f (D) Carbon ¢x.¢

337.Which of the following nonmetal is shiny? ?‘LJU.?,‘}: b S e S 58,0337
(A) lodine /357 (B) Carbon oz (C) Fluorine ¢7.s# (D) Sulphur

338.Color of fluorine is: 1o b b6eP.338

(A) Light yellow i &} (B) Greenish S\ &~ (C) Reddish brown ws.. J1 &~ (D) Purple black o §b
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Q1.  Write short answers of the following
questions.

-U,:/( £ /" AR /‘:" Z:.:«Ulrut Sousnr

1.Give the scope of biochemistry?

S A

2.Define atomic mass unit. Why is it needed?

3.What is meant by atomic mass?

Y A T A,

4 Differentiate between homoatomic and heteroatomic molecules
with examples.

S i e ST
_Q:/(fjba/c.d}?u: SNECH J}‘éﬂ/}'u@"}")’f

5.What is the difference between cation and anion?

\\' e 7/ 7
RS

6.Define free radical and give an example.

ERRE S

7.Write down two differences between molecule and molecular
ion.

_frd/'uu:u{!’/:;ghuid}gh

8.What is meant by triatomic and polyatomic molecule?

9.Give three properties of positive rays.

10.An element has an atomic number 17. How many electrons are
presentin K, L, and M shells of the atom?

11.What do you mean by groups and periods in the periodic table?

?Lg;l/gcj,‘gf:uiu{:)/(uﬁ J,!u()bkﬁ'

12.Why the size of atom does not decrease regularly in a period?

\?mufu[ﬂw_u@w/’%ﬁuuﬁ%yg

13.What is meant by atomic radius?

?%J’/QL;J/LJ,‘}/H(U’I

14.Describe at least two necessary conditions for the formation of
a covalent bond.

3 _Q/u‘l‘/,lﬁl/‘d/)/:"uﬂ/ﬂﬁgzxf_ééf_i'g -‘a{}:{

15.What is the difference between polar and non-polar covalent
bonds? Explain with example.

£&>D:JQ)})?L¢0/'Q-@‘V/)£IQ &'{://{ut;:!/{

16.What is the relationship between electronegativity and polarity?

S GA R A 5 A

17.Why are the densities of gases lower than that of liquids?

T e

18.What is the difference between evaporation and condensation?::

e GNP g

19.What is meant by evaporation? What is the effect of
temperature on evaporation?

&

St A U8 A /;/ Sl 't LJ%,{.gu

20.What is the reason for the difference between squharis, 5
colloids and suspensions? /

e o SOSAFE isud 7 b

21.What is meant by colloid? Give example.

<Q:Jff?‘a;l/gcfﬂf

22 What is meant by suspension? Give example.

e ST

23.What is tyndall effect? On what factors it depends?

?LLV}?{,J|/J//V;|ng?‘L&J/LQ.|Jﬂ

24 What is the difference between solution and £

?‘gd)gfu::tuﬂmf)"

25.Write the difference between suspension af

s

26.Write down two characteristics of

_ﬂc«&i/‘;»d?fﬂf

27.What solution is used as an g}éc rolyte i

et Uit 2P U e

28.How is electroplating on steé}’j}éarried out?

e Snd el Gk O

29.Why are silver and gold Ieas%‘%

?wu{}gd/f;a%ﬂﬁm#

30.Can pure gold be used for making orraments? If not why?

Ul IS 10 (P e Lot § 1S Aoy

s electro- posﬂwe than magnesium?

?Laﬁig,}guug;u[gﬁ,gd/ﬁ%?

32.Why is ionization éne
“{

N 'Ie_§§ than Mg?

e U { GAFAAT e, (5{?

33.Write down two chemiical propéfties of halogens.

-ufgb"«&‘f‘;tjk"/«”d/ﬁ’lﬂ

Q2. Write short answers of the following
questions.

Sz L S psne

1.Define industrial cheFﬁist_fy and analytical chemistry.

S PSS A LS

2.Differentiate between o}ganic and inorganic chemistry.

S S GPIS T Ty T

3.Differentiate between industrial chemistry and analytical
chemistry.

LIS S s
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4 Define nuclear chemistry.

S PSS

5.Define environment chemistry.

G S AL A

6.How does homogeneous mixture differ from heterogeneous
mixture?

?wﬁ“'/”b'gé/f:(%ﬁﬁqzﬁl;:(%yﬂ

7.What is the relative atomic mass? How is it related to gram?

?‘at‘t?lb?:;’jy ch.(vf ?‘L;;‘"

8.Define empirical formula with an example.

U/ AL e

9.State three reasons why air is a mixture and water a compound?

Q/uy._«,mu’ﬂ;ﬁ J&L/%{JZUHZVT

10.State the reasons: soft drink is a mixture and water is a
compound.

_u’/ubp;_w%ufudv

11.Differentiate between molecular mass and formula mass

BB e s

12.What is meant by radical? Write some examples.

13.Define atomic mass unit (amu).

14.Define empirical formula and molecular formula.

15.Write two differences between compound and mixture.

_ﬂ&)3)u:f7[/3lf€5g .

16.Define valency and write an example.

_Q:uﬂ'{dfnﬂu:/':@/jJﬁ} .

17 Write the names of four elements from halogens group.

18.Write empirical formulas of benzene and hydrogen per oxide.

L bl AT (Pt e

19.Write the empirical formula of glucose and benzene.

_é,l/‘/lsgﬁ./:;!g@ﬂui):(}g .

20.Define chemical formula and give examples.

_Q}uﬂ'{uﬁjl}"‘ulu:/uyﬂ}”/&jw .20

21.Define gram atom and gram molecule.

Ny AN Lﬂ/ m("i’ﬂ/

.21

22 Write down chemical formula of ammonia and sugar.

el 0o B 3LES Bl

22

23.What is meant by Avogadro’s Number?

Sl pUe .'Ju,ff»‘l
<y &3y

.23

24 Define mole.

NSy nAsE

.24

25.Give five characteristics of cathode rays.

AP LA

.25

26.What are the defects of Rutherford’s atomic model?355§§:$§§ ‘
E

"wy/u‘j@ Ldﬂb{l}’léf/}u/

.26

27.What is plum pudding theory? Who presented it’

WL e B Eh

217

28.Write down two characteristics of canal rays.

_g/uy.ayré»@/db[ .28

29.Why positive rays are also called canal rays?

€ bl Ul oY 504

.29

30.Write down three characteristics of neutron partlcle

IS elor? S E sy

.30

-LJ:/'/UL/.C«ML"ZAL{_}.LL};/J/

31

_Q/uy.&,/*»édst.,(wé/m

.32

atomlc theory. f’

-é{f"g})uufd/),{’?ﬂld//u{ub‘/}u/

.33

34.What is meant by quantum’? 5

?%)i/gafwi}(

.34

35.Differentiate between shell ari

ell wmﬁ amples of each.

FES L NSRS S

.35

36.Write the electronic configuration OFAT+3. How many electrons
can valence shell accommodate?

?wj,}?viuﬁf&;/;c;q_ufiﬁﬁj;}?u& Al+3

.36

37.Write the difference:between shelféﬁd sub shell.

Sk ol

37

38.Define electronic éoaﬂgrjr: GO«

LI PSHF B

.38

39 For what purpase U236

S tbl Uil Cad 7y 235

.39

40.A pat|ent'h\~&§go?f'§ﬁH will |t be detected?

LSS S PR

40

41.Define |sotopes.

S T

A1

42 What is meant by radi.c;iz-barbon dating?

?c‘_)l/gc;u@ﬂj./gg/‘}/

42

43.What is meant by nuclear fission reaction?

?%Ji/gauﬁgﬂd/uﬁ/;gﬁf

43

44 Write the isotopes of hydrogen.

<J”/'/u.l.;u55’br’/i’éu>uﬁﬂ

44
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45 Write the use of isotopes in radiotherapy.

eI B g KT

46.Which isotopes are used for the treatment of skin cancer?

S UK T L L F

47 Write down the use of iodine 131 and technetium.

48 Why are noble gases not reactive?

U/uwwgff"” 31T

49 What is the difference between Mendeleev’s periodic law and
modern periodic law?

50.Define Mendeleev's periodic law.

51.What is meant by periodic function?

52.Define Newland's law of octaves.

/%JT;U{J}L&J},’E .

53.What is meant by transition elements?

be & .
;_uftfgw’fjliuﬂyu" .

54.Why are the elements of group 13-18 called p-block elements?

F18-130) .

55.Define modern periodic law.

et S |

56.What do you know about Dobereiner’s triads?

.7‘!1)1';/; LJ&!Q!/”L/I(}S’ .

57.Define periodic law of Mosley.

58.Write down two characteristics of long form of periodic table.

% ayf}ud/ﬁﬂkﬁ.)!’pﬁj}’ .

59.Why do the elements called s and p block elements?

LWMU}J/J%V‘LWJU sl ST

60.How many total blocks are there in periodic table? Write their
names.

e A E S i S

61.Write down the symbols of noble gases.

_ﬁi =l d//:’ij’;’ .

62.Give the trend of ionization energy in a period.

S B AEAF TS A

63.What is shielding effect?

64.What is the trend of shielding effect in a period?

e e Sl .

65.Define ionization energy.

SIS EEAFANAT

66.What is the trend of atomic size and atomic radius in period
and groups? 228

<u’"/'/u.l(.ul?~/ﬂ;5/ul% SV

67.Describe the trend of ionization energy in group.

-Q/ UG BEAF I Tu:.;,f .

68.What is meant by first ionization energy?

?La}l/gc@/'lﬁ'//t'f'!’% .

69.What is meant by second ionization energy?

?%Jl/gc(ﬁ/'lgf’i'//l:}ffd/u. .

70.Why the second ionization energy is higher than thg:first =~
ionization energy? ' %ﬁ

Ce dnudalie GAFALTIGHNFALTS o .

71.What is meant by electron affinity?

?‘L)!/.l,fcgjb‘i}glu’f‘g! .

72.What is the trend of electron affinity in pertEieP

S A UL KT A

73.What is meant by electro negatm

e Ve G

74 What is electro negativity? Wf' te the electro egatlwty of
chlorine. ‘-‘“C'-‘

_ufi&}:i;?}}gldl{ugoi;g&{%?}fgl .

75.Write down the trend of elecf%igﬁtlwty in 2 rﬁﬁ?

-Q/ug.uli%&;f:?,}?luﬁ.;/ .

76.Atomic size increases from top Wn a group Why?

?ux,f.ct'_l}'ﬂ"/‘ éc{:}l'/lvuﬂ”!uf#,}/( .

77.The ionization ene y of sodium is_less than magnesium. Why?

?u{_ﬁ;anﬂ/aff%?&)lﬁ'//tffd/ﬁ}y .

78.What is meant byeﬁt

S i

79.Write the trend of elegtro fié _%@"t{y in the periods.

e K B

80.Why do atw

el SIS U S ATA

81.Why noble gases do not react?

$ S K0 LS

82.What is the diﬁereﬁé"&_;ge'tween duplet rule and octet rule?

?Lad)gfuﬁdu%mu}/q’gs .

83.Differentiate between lbne pair and bond pair of electrons.

SN S I L

84.Why does a covalent bond become polar?

fetperud /gt s/

85.What is ionic bond? How it is formed?
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86.Describe polar covalent bond with the help of an example.

-Q:/&LBJ/Q_JJU"/..«QUQCQ&{}]/{ .86

87.Describe non polar covalent bond with the help of an example.

_J/o?LQ)/é.;J@'uCIJfCL&ZL»O!uL' .87

88.What is meant by co ordinate covalent bond? Give example.

89.What is metallic bond? How is it formed?

<J}JV¢L}'/U/L/~L».AJ4MJ/M}/’}J/ .88

90.What is the difference between donor and acceptor?

91.Write down the relation between electro negativity and polarity
in covalent bond.

G PR By

92.Why polar covalent bond exists in water?

%u%‘{,ﬂguﬁ&g :

93.Define bonding electrons.

94 Why does ice float on water?

U 8 |

95.Define hydrogen bonding.

96.Why the boiling point of water is greater than alcohol?

97.Explain the formation of coordinate covalent bond in BF3 and
NH; .

98.lonic compounds are solids. Justify?

/yuﬁ_w"gnu’f}fcfgj{’l’ .98

99.Metals are good conductors of electricity. Why?

LU B LR S 99

100.Give the characteristics properties of ionic compounds.

/ul/_,uy"gfﬂ;d//,utfef/l .100

101.Write down two characteristics of covalent compounds.

J‘”i,uﬁuddﬁf/ub&‘h/ .101

102.Write down three characteristics of metals.

A eeler? LGSR 102

103.What is the difference between malleable and ductile?

?%J/'y/uﬁ‘ftfﬁ’mdr:‘/ 103

104.Write down two characteristics of non polar compounds.

<J.Jc,’l:£r‘7udgj/d//i§g)gfub 104

105.What is epoxy? Write its use.

_u”/ul“/,JL»“VMJNLLgf{J 105

106.Write down two characteristics of co ordinate covalent
compounds.

S e s e a1 106

107 .Define ionic and covalent compounds.

S PSS L T BT 0T

108.What is the diffusion? Explain with an example.

-Q’/&&}/@;J@ug?égwufr@.f .108

109.Define standard atmospheric pressure. What &
How it is related to Pascal? '

LrE e ey Loy S P p S s 109
te Py

110.Define effusion. Give an example.

oLy S i 10

111.Define pressure and write its unit.

SIS Ny PR LY

liquids?

?Lamu)ﬁug):ﬁ»ﬁgf éhu;‘{fb"uﬁ ,»,f 112

113.What is the difference between iffus

S Busis 13

I E S S i 14

"c_l, u[,’lﬂ!u‘u/r")c&/f/ 115

116.What is meant by mobility or%@

?‘a}l/gcu‘%./d/uﬁf 16

117 What is pressure? _Write its unit

Skt 2, T

118.State Boyle's law

-u:"%‘fu,m}mfm?{_guiww’u 118

119 What is the d.fference oo n.
pressure? %

°+J/y/u:ﬂ4J}/gu5/,1J}/ 119

120.State Chm '

K120

121.What is éffeeJute zero? Write its value.

i ey 421

122.Evaporation oauses coollng Explain.

'u://wuﬁna..,‘rKL/l&Jﬁﬁ/%gi 122

123 Write down two characteristics of liquid state of matter.

P el 123

124 What is the effect of surface area on evaporation?

S tw i) /;'“%u;»ng/f/ 124

125.Rain drops fall down. Explain the reason.

Sl S L BL A 125

Prepared by: M.Qadir Rafique Cell # 03024741124, Whatsapp # 03024741124 Page 4




Y Olke 23S Tl o0

20 el (o8 LeB) (5 hamnsS”

126.What is meant by dynamic equilibrium?

VC.J'/Lfc“.ﬁ:/d:(lJL‘:lf

126

127 Kerosene oil floats over water while honey settles down in
water. Give reason.

dLJ!Jy}/fu’/ubpﬁ

A27

128.What is the difference between evaporation and boiling point?

128

129.Why liquids are mobile?

SO B uuu//y 4

129

130.Write down two characteristics of solids.

130

131.Differentiate between amorphous and crystaline solid.

131

132.Define the term allotropy with examples.

_JMJ‘;@W@,%

132

133.What is meant by allotropy? Write the allotropes of oxygen.

AR o

Ld)/’k’

133

134.Write down two causes of allotropy.

134

135.What is meant by transition temperature?

_o ﬁu;d/d:}/},l‘,i

135

136.Write the names of allotropes of phosphorus and sulphur.

136

137.Write down the use of salt to preserve meat.

137

138.What is meant by solute? Give two examples.

138

139.Differentiate between solution and aqueous solution.

S AL P

139

140.What is the difference between solute and solvent?

?Lgﬁi'y/u.’i Ly sy

140

141.What is the difference between dilute and concentrated
solutions?

OLLJ/&J/&;U:)J}’J‘-?. £ Al.‘u;;gl;‘

41

142.What is the difference between saturated and unsaturated
solution?

_ZL.QJ/.U:);,J"Q/{:'UI/MJZ/{:/

142

143.What type of solution are fog and brass?

?ug(:’ SIS Ayl

143

144 What are alloy? Give examples.

_Q’)ugf/?‘Lng

144

145.What do you mean by volume/volume %?

¢l 2Ll volume/volume
= /Y

145

146.What is meant by percentage volume/mass?

?Laﬁl/.l,-’/cu’l./ﬁ l}éz}f{,

.146

147 What is meant by percentage mass/volume?

?‘L,;/L",fgffu/ut.@?f/,

147

148.Define molarity?

ISy AtPE

148

149.What do you mean, like dissolves line? Explajn f

el psteLike dissolves like-c ek

149

150.Justify with an example that solubility of a salt i
the increase in temperature.

_La(.j'”"/.&%.JVJJJVLLD!uﬁéﬁfd[a?fgﬁdfﬁug

150

151.What is meant by solubility?

‘."aﬂ/‘l‘-’/cub”%‘ﬂ../

151

152.What is endothermic process?

Vuj’:ééfu(/?ﬁgl

152

153.What is exothermic process?

sl LS 2

153

154. Why do we stir paints thorouth

(UL AE R e Jes

.154

-Q}fd@-d"/-é/?u(ﬁigﬁf.z_wﬁu,}?u

165

O%J/gdtwﬁ%ﬂﬂ}

.156

spontaneous reactions.

~fg0/uf‘/'“’§'d/u:“’f‘guv/,uu:*’f‘k

157

158.Define oxidation ard reduction.

_q/_.y/?d/u;gﬁgwuﬁa"/f

.168

159.Define reduction:ag

IS PP e lip Ly A

159

160.Write down two ruii'és_,:‘jb ,;g;@?fg oxidation number.

-q/ul,mﬁ»ég/u‘iﬁ//ﬁafu’

.160

161.Find the wuﬁber of‘manganese in KMnoy .

U AP TRt KMnos

.161

162.Differentia‘férbgtwe:éﬁ" ong and weak electrolytes.

SN GPIe LTy LT

162

163.Differentiate betWé'e'q::gXidizing and reducing agents.

M/fud/'uﬁu“/u,}?w/nuﬁw

163

164.Name the by-producfé produced in Nelson’s cell?

etz o LS e o

.164

165.What are strong electrolytes? Give examples.

e o A

165

166.What are weak electrolytes? Give examples.

_Q;d&?wz.nlfuj’/u,}?m/

.166
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167.What is anode? What is the difference between anode and
cathode?

LGS b e 16T

168.What is galvanic cell? Give example.

“pdese ks 168

169.What is salt bridge? What is its basic role?

fe | (Kd,vwwuf Lol 169

170.What is electrolytic cell?

A70

171.Write down two differences in characteristics of electrolytic
cell and galvanic cell.

A7

172.Write two characteristics of galvanic cells.

Ny, f’%{ s

A72

173.What is meant by metallic coating? In which industry it is
used?

A73

174 .Describe shortly the procedure of tin coating.

?Lgugiuﬁdﬁm/dwn{%v@@@

174

175.What is alloy?

175

176.Find the oxidation number of NitrogenHNO, in and AgNOs.

176

177 Why is an iron grill painted frequently?

eSO Lo AT

178.Why is oxygen necessary for rusting?

178

e g POl IL LS LA 5

179.Why is galvanizing carried out?

A79

180.What is meant by galvanizing or zinc coating? How zinc
coating is performed? What is its advantage?

.180

181.What is the difference between corrosion and rusting?

G Eomuis ) 181

182.What is the role of oxygen in the rusting of iron?

e ST RS LE Lol d 182

183.What is meant by electroplating?

el By 183

184 .What is meant by tin electroplating? Describe its procedure.

B e e Bk S 184

185.Write down two methods of prevention from corrosion.

<ufﬁ%)u£5£’ﬂcuj’5/ 185

186.What is the difference between steel and stain less steel?

&

e GA RS AL 186

187.Why the second ionization energy of magnesium is higher-
than the first one? &

e drudie SGAFLAS ol 5 18T

188.Why is copper used for making electrical wires?

ety Uiiud gl Loty aSE 188

189.Why is magnesium harder than sodium?

e eruud e sy 189

190.Define metals and give two examples.

_Q";Jgf'/uulu:/@/?d/%‘: 190

191.Write two chemical characteristics of metals.

_Q//j.:,yﬁéy{,uf){“ 191

192.What is meant by malleability?

Sl JLM
= /Y

192

193.Write down two uses of silver.

_Q/{fcaﬂb”“luéul” 193

194 Writer down two uses of calcium:

S el g 194

195.Define electro positivity anq:;,ijive example:::;

ey S A G A 195

196.Write physical properties ot%}g

ek S ST 196

197.Write down uses of gold.

Sl et LSS 197

198.Why gold is used to make jewelry?

et Usudlrd Loty 198

199.Why sodium is

e UL S EE S 199

200 Why platinum is Used

forvehicles as catalyst? What is
the advantage of |ts use :

L6158 b Je1u ] ("’ u//kév)bfwuy/{/r .200

N3]

And give an example.

201.Define eté&%%&&m-

“pJe Ly S G A 201

202.Write down the" Uses of sodium metal.

S et L 202

203.Write down the uses_of magnesium.

S Fet £ AT 203

204.Write three physical properties of silver.

eSS 208

205.Write the names of four most reactive metals.

Prepared by: M.Qadir Rafique Cell # 03024741124, Whatsapp # 03024741124

Page 6




Y Olke 23S Tl o0

20 el (o8 LeB) (5 hamnsS”

206.Define electro positive character.

A A 206

207 Write down two uses of platinum.

G el 207

208.Why platinum is used to make jewelry?

et Ul d Lo benyiy 208

209.Write down the names of two most ductile and malleable
metals.

_M(L-L%udzﬁ,u_ﬁee e o 209

210.What is the trend of electro positivity in a period?

210

211.Why metallic character increases in a period? And why it
decreases in a group?

?Lg@nﬁ/u{uﬁ_;}/nlgﬁ‘””/w%&@dy 211

212.Write down the occurrence of alkali and alkaline earth metals.

iRk aswad 212

213.Write the names of noble metals.

214 Write down the names of two moderate metals.

sy 2m3

214

215.Why fluorine is least non-metallic than chlorine?

215

216.What is meant by halogens? Write their names.

LLU!"L;I/U/L/)" 216

217 Write down two physical properties of non-metals.

ke B Fn ke 217

218.Write down two chemical properties of non-metals.

ﬂvuﬁdwﬁﬂ}*uu 218

219.Write down two uses of non-metals.

<in.:40lf~"lu£}":ub' 219

220.Write down the importance of non-metals.

Sl § o220

221.Why nitrogen is necessary for the safety of life on Earth?

R ot fed Lesidlingts 2

222.How Cl, andCHareact in dark sunlight?

rBeni el PHGK CHe Chut e Sor 222

223.How nitrogen plays essential role for the existence of life?

St (.‘ug@ﬁ;uu/(»|4/u’:£/(/€/u6i%fuu 223

224 What is the importance of water for the existence of life?

?%gg:ﬂld/&g”iéﬁgd/fl] 224

225 Write the chemical reaction of H, with Cl, and |, .

AL wCly UG H, 225

4 Why metallic character increases in a period? And why it
decreases in a group?

e dnfud s me Frudese Batin 226

5.Write the chemical reaction of water and bromine.

_u:’aﬂudjégxﬂuﬁu,m&g 227

8.Write down the trend of non-metallic character in gro&bs i
periods in periodic table.

~E ke hpas S e E s 228

10.Why valency of chlorine is 1?

e dnul il 229

Lo -‘

Juestions:

Q3. Write detailed answers of the follewing
questions

UL FeMZhI Ly f 5 psir

ry. Define

';.

SLE g S Sl L use S /f(_.«ll)

S e

Write the uses of isotopes in vart0us fi elds

S e WL AT 2 ()

List five characteristics by wh|ch i: :-d}stinguished

ounds can
from mixtures.

u‘;//u"//ﬁuwaf/“;mfu’u/uuyuﬁ& 6L(JIM

Write a comparison between Rutherforﬁvand Bohr’s atomic
theories.

-/ /'/ u%';}’/‘ K{ /!f? .J:/WJ s /3’5/5; /;/(.7;)

What is the differencg mber and mass number?

Explain with examplet

/T e IS AU AU A u(w(.,all)m

Write Bohr's atomic thébry se;ﬁ;t?ie its postulates.

UL &P LG S S ()

en empirical formula and molecular

U/ 5 e IO A u:ur/ts/{ghmur/tsﬂ s u(Jl)m

How neutron was dtscovered') erte the characteristics of neutron.

-u»/uy:,gm? Juﬁﬁ}:'ﬂn&&;:dfuubf(-?a)

What is mixture? Write |t§-.f ve characteristics.

el b S Ut 2 (J;M

How did Rutherford discover that atom has a nucleus located at
the center of the atom?

Véglijfuﬁ//éﬁ!LM&V#LL}/}/(?&)

What is molecule? How it is formed? Explain different types of
molecules with examples.

5!5LUJ@(U!JQU(J{?W%VTJ}X}4/:?§_gdggh(JlM
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Jr

How are cathode rays produced? What are their five major
characteristics?

P15 LUl dl 2l s ()

% Sar-ai

Q4. Write detailed answers of the following
questions.

-q/ £ /’ 2k e v RIS

What is a chemical bond and why do atoms form a chemical
bond?

C Lt i S A R

What is allotropy? Explain with the help of examples and also write
its causes.

e S IR e U )

What is an ionic bond? Discuss the formation of ionic bond
between sodium and chloride atoms?

Jf&&ib J{Tuyﬁéc{/ﬁm%&ﬁ_ﬂm

‘Q.’/ylﬁu

How many types of solids are? Write down its properties.

Explain the types of covalent bonds with at least one example of
each type.

e Ll

5.Define boiling point. Explain it with the help of kinetic molecular
model. Also explain that how different factors affect boiling point?

g S .»md/‘%@ﬂ Pl Sy S S ey ()
Levaei Sy 28 2 0 Seolon

How is a coordinate covalent bond formed? Explain with
examples?

What is vapour pressure? On what factors the vapour pressure of
a liquid depends?

What is metallic bond? How is it formed in metals?

What is meant by evaporation? Write its properties. On what
factors it depends?

KU1 pbor® S sl S e e )

Define hydrogen bonding. Explain how these forces affect the
physical properties of compounds.

U;Ja@u’i-@/@f&jﬁ%(f}/ﬁf&(.ﬁjlm

i U pekor® 52 §8,

Define Charles law and explain it.

ey S P S LU ()

7.What are covalent compounds? Also write the charactenshcs
covalent compounds. P

L}/M:L{J »(/ *‘u*u/wuut »{(Jlm

1.State Boyle’s law. Also derive its mathematical form.

_J"/'/}éigbl/db’ JJI?%gUJG KJ/IZ(_.a)

Q5. Write detailed answers of the fdilowinij
questions.

S MRS L ey f g sir

Differentiate between dilute and concentrated solutict
common example.

AP e e S |

Discuss the redox reaction taking place in the rusti
deta|I -

_u’"/u.l(.cM/ﬂd/wQ/LbLnubuiiniji(_.a)

_"é_“)l.«ud/(jigzlgéﬁ}/‘/"%;l/gcﬁb/{(uﬂim

chloride.
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Explain the solute-solvent mteractlons for the
solution. 5
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What are electrolytes? Write its ty
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What is general pr|n0|ple of squb|I|ty’?v
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Compare the charact
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What is meant by soltibi
depends? Explain. ™
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Discuss the W
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Give five characté*ris;tjcs of colibids°
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What is oxidation number or state? Write down the rules for
assigning it.
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Make a comparison among solution, suspension and colloid.
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Write a note on oxidation and reduction reactions according to the
addition and removal of electrons. And explain with examples.
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What is the principle of electroplating? How is electroplating of Qe LB S S U U106k AN J'M

chromium carried out?

Write down different methods to prevent corrosion.
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